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(@) 5x2x7
() 5x2x7
Y5 x22x 7 &— Answen
The prime factors of 140 are :

(a) 5*x2x7

(b) 5x2xT7?

5x22x7
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The product of roots of quadratic equation

ax?+bx+c=0 will be

~b d
(@ — %b'(g (c) -

a a a

3. /9 aiell § A Tt x IRy ¥ WS
qHHCT @ 1
(@) 2x*+3y=4
y(b)/Zx+3y=4<—-—'AY)S\AR)'(

(c) 2x+3y*=4




Which of the follogggguations is a linear equation

in two variables xand y :
‘(a) 2x*+3y=4
@ 2x+3y=4
(c) 2x+3y*=4
4. Feom gt axt+bx+c=0 ¥ IR b?—dac>0 &
-t Tl @ g A 1
(a) QA TR qEED I
(b) FE aED g T
O 2 P Al g &— Answies




In quadratic equation ax2 + bx + ¢ =0, if b?—4ac >0,
then the roots of the equation will be :

(a) Two equal real roots
(b) - No real roots
¥ Two distinct real roots ——

5. AP ¥a=5d=3,a=50 A n=.i 1
@@ 26 (b) -16 ef 16 J.—-—Answoz
InanA.P.a=5,d=3,a =50then n=........

o) 5 (b) -16 ¢ 16

§ -




6. W By A T ¥ - !
\.(3')/ 13cm, 12 cm, 5 cm &'—AW
(b) 3cm,6cm, 8 cm
(¢) 7cm,23cm,25cm
The sides of a right angle triangle are :
L(z)/ 13 cm, 12 cm, 5 cm |
(b) 3cm,6cm,8cm

(c) 7cm,23cm,25cm

7 AP 3. 1,—1,-3 .. B @@ SR AT 1
&— Angwn

(a) 4 -2  (¢) =5




The common difference of A.P. 3,1,-1,-3

will be

@ 4 W -2 © -5

B cosec2 A —Cot2? A=
L We N

w 1€ ) 2 (¢) -l

Trigonometric identity cosec? A —cot’ A=

@1 (b 2 (c) -




9. I W 9 F MM AR 6w dAE W F
AT ¢, A& 39 gq A B & 1
&2 qﬁas%) nsmu;%h (c) 4 AEF
If the perimeter and the area of a circle are
numerically equal, then the radius of the circle is :
(a)/ 2units (b) ® units (c) 4 units

10. N B G F G & l

2
—Tr
(a) 3"

M ar < AhSWQ)!

;
RN ;

\

(c) ?;-‘MJ




Formula for volume of sphere is :
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Section-B

(757 & 11 & 17 a% 96% 997 2 i# @1 2))
(Question Nos. 11 to 17 carry 2 marks each)

11. =g o Ry 2/ 8,9 $) 25 &1 HCF &
LCM s/ Fifrg 2
Find the HCF and LCM of 8, 9 and 25 by applying
the prime factorisation method.

12. = Ffme F 2 = Ay ger 2 2
Prove that /2 is an irrational number.

13. o f2Om TEER M Fow, e @ #@ A T

I FA9: LR 2

Find a quadratic polynomial. the sum and product of

whose zeroes are 1, 1 respectively.




14, x 3R y & o @ a AR, T [ (x,y) Rgat
(7, 1) 3R (3, 5) @ ALY (equidistant) 81 2
Find a rclation between x and y such that
the point (X, y) is equidistant from the points
(7, 1)and (3, 5).

15. fgait (-3,10) AR (6,-8) F A aA @GS H
Rig (-1, 6) A squa & s #xar 81 2
Find the ratio in which the line segment joining the
points (- 3, 10) and (6, — 8) is divided by (- 1, 6).




16.

17.

D |14 sinA-—-% 2l @ cosA R tanA FH A A
T | 2

If sinA= %, then calculate the value of cos A

andtan A.

A Raardl whar AR Yo P F o A9 a2
7% 3q & B wiar & A9 Sfien @ R 0.62
2 g 3 Shaw @ Far i @ ? 2
Two players, Sangeeta and Reshma, play a tennis
match. It is known that the probability of Sangeeta

winning the match is 0.62. What is the probability
of Reshma winning the match ?




qves-q
Section-C
(797 Gear 18 @ 29 a% gF 997 3 W W &)

(Question Nos. 18 to 29 carry 3 marks each)

18. i1 M - 3
X-y=-1
3x+2y=12
T Ry & &7 S

Solve the following system of linear equations
graphically :

x-y=-1
3x+2y=12




19. F1 WeF w1 I A a9-TH R Er e
FIfoT : - 3
x—3y-7 =0
3x-3y-15=0
Solve the following pair of linear equations by the

"

cross-multiplication method :

x-3y-7=0 o ~ S~

3x-3y-15=0




20. TF AP T, a=5d=3 3R a =50 R 2 o

S, S HifoT | 3
InanA.P.:
givena=5,d=3,a =50,findnandS,.

21. RERu % : 3

tan 48° tan23° tan42° tan 67°= 1

Show that :

- tan48° tan23° tan42° tan67°=1




22. TduitE s FHifw : Y 3

1+sinA
1-sinA

=secA +tan A

Prove the identity : ‘

l1+sinA
I1-sinA _

23. 39 P &1 &9 oa i Bes i (-5, -1), -
(3,-5) 3 (5,2) g1 3 :
Find the area of a triangle whose vertices are
(-5,-1), (3,-5) and (5, 2).

=SsecA +tanA




24. ABC % wfzarg fwr @ Rrad AC = BC B

25.

IR AB?=2AC? ¥, & frm #itm & ABC 0%
T B R 3
ABC is an isosceles triangle with AC = BC.
IfAB?=2 AC?, prove that ABC is a right triangle.

Rrs it B Rl g @ Rt a8 3 R X el
T et Ya wwie O ¥ 3

- -

Prove that the tangents drawn at the ends of a

diameter of a circle are parallel.




26.

217.

4.cm, 5 cm 3R 6 cm YT AR T BT A
PN AR T 36 THET @ a4 B @
i, Rreet o qast P ot i gemelt A 2
T & I 3

Construct a triangle of sides 4 cm, 5 cm and 6 cm
and then a triangle similar to it whose sides are %

of the corresponding sides of the first triangle.

T g31 3 e 3 gE et 7o 14cm 21 39 G
a7 5 e d T aFwa 7 ki) 3




28.

The length of the minute hand of a clock is 14 cm.

Find the area swept by the minute hand in

5 minutes.

aﬁmammmmmm,
IR ¥ O 7 At wIAT g A B F
7em AR 14cm ¥ @1 LAOC=40° &1 3




Find the area of the shaded region in the given figure,

if radii of two concentric circles with centre O are
7 cm and 14 cm respectively and ZAOC = 40°.




29. X P(E)=0.05V%, @ ‘E T8 @ uidear T
g7 3

IfP (E) = 0.05, what is the probability of ‘not E’ ?

qUB-%

Section-D

(797 G 30 @ 34 aF 99F 997 5 H H &)
(Question Nos. 30 to 34 carry 5 marks each)

30. TF TR B A HAE 39 AR § 7 cm 3A
1A & B3em # B, @ o @ ol s
FITT | 5




The altitude of a right triangle is 7 cm less than
its base. If the hypotenuse is 13 cm, find the other

two sides.

. I 3 & [g §, N IR 3 95-fg § 30m &

W 2, 1R 3 Rt &1 39139 o1 30° 31 T9] A
SR 5 T | 5

The angle of elevation of the top of a tower from

»
a point on the ground, which is 30 m away from




32.

the foot of the tower, is 30°. Find the height of

the tower.

7R Rl Byt & @& g B o o & POl 3
it & A B aEK A A Gech qoN B TG BT

o BT 21 s Fifie ' 5

In a triangle, if the square of one side is equal to
the sum of the square of the other two sides, then
the angle opposite to the first side is a right angle.

Prove it.




33. T T OF IR AF F ABR H | 0 SR
8cm%eﬁrmm%(vhgm§m%)aﬁﬁm5cm
2198 SR T T | A 3O B | 99 39 I 7 9
F FB Ml B 318% 0.5 cm B amn @& Aen
2, STl o 8, @ 39% A W g O 1 & A
AT e et ST B | e & St 1 AR ) it
F GE T P | 5
A vessel is in the form of an invertecf cone. Its height

is 8 cm and the radius of its top, which is open,




i85 em. It is filled with water up to the brim. When
lead shots, each of which is a sphere of radius

0.5 cm are dropped into the vessel, one-fourth of

the water flows out, Find the number of lead shots

dropped in the vessel.




34. RA g de R 3 3B I F@Eml @
@Rad simisn e =t # e T @ B

e @ -
g4IY Y ¥ Foaara N we
3000—4000 4.
4000 - 5000 18
5000 — 6000 9
6000— 7000 r N
7000 — 8000 6
. 8000 — 9000 3
. 9000 - 10000 v
1000011000 W

1 TS F IS A i | 3




The given distribution shows the number of runs
scored by some top batsmen of the world in one-day

international cricket matches.

Runs scored Number of batsmen
3000-4000 4
4000- 5000 18
5000- 6000 9
6000-7000 7.
7000 - 8000 6
8000—9000 3
9000 - 10000 1
10000-11000 1

| Find the mode of the data.




